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A sealed container contains 0.500 mol of methane gas,
0.400 mol of ethane gas, and 0.100 mol propane gas. Ifthe
total pressure of the mixture is 3.00 atm, what is the partial
pressure of the propane?

1) 0.300 atm 4) 1.50 atm -
2)  0.600 atm 5) 3.00atm
3) 100 atm

. When a sample of ethane gas in a closed container is cooled

so that its absolute temperature halves, which of the
following also halves?

1) The average kinetic energy of the gas molecules
2) The potential energy of the gas molecules

3) The density of the gas

4) The volume of the gas

5) The number of molecules in the gas

A sample of 0.0200 mol of chlorine gas is kept at 27.0°C
and 0.150 atm. What would be its pressure if the
temperature was increased to 227.°C and the volume kept
the same

1) 0.060 atm 4) 2.10 atm
2) 0.250 atm 5) 0.300 atm
3) 1.20 atm

What is the density of a gass that has a molar mass of 336
g/mol at STP?

1) I5gL 4) 168 gL
2) 17gL 5) 336 gL
3) 150 gL

. Anideal gas in a sealed container is heated from 290 K to

370K at constant volume. Which of the following DO
NOT change?

L The density of the gas
II. The average distance between

molecules
1. The average speed of the
molecules.
1) Tonly 4) Tand III only
2) Il only 5) L1, and III

3) TandIIonly

The pressure on a sample of gas is increased from 100 kPa
to 130 kPa at constant temperature. Which of the following
increases?

1. The density of the gas
II. The average distance between

molecules
. The average speed of the
molecules.
1) Tonly 4) TandIlonly
2) Il only 5) LILand I

3) Iand I only
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In 1811 Avogadro calculated the formula of camphor by
means of elemental chemical analysis and by measuring the
density of its vapor. Avogadro found the density to be 3.84
/L when he made the measurements at 210°C at |
atmosphere pressure. Which of the following is the correct
formula for camphor?

1) CH,0

2) C,H,,0

3) CH 0,

4) C,H,0

5) none of the above

2Li~‘r2HzO~>2Li+—l>20H’+H2
When 0.800 mol of Li is reacted with excess water at STP

in the equation above, what volume of hydrogen gas is
produced?

1) 224L 4) 896L
2) 448L 5) 17.92L
3) 672L

. Which of the following gases is most like ideal? ,

1) He
2) 8O,
3) H,0
4) CO
5) Br,

Under what conditions do gases deviate the most from ideal
behavior?

1) High temperature, low pressure

2) Low temperature, low pressure

3) Low temperature, high pressure

4) High pressure only

5) High temperature only

A gas has a density of 0.25 g/L at a pressure of 0.0821 atm
and a temperature of 27.°C. What is the molar mass of the
gas?

1) 0.25 g/mol 4) 38. g/mol
2) 25. g/mol 5) 75. g/mol
3) 30. g/mol

1.00 gram of propene gas occupies what volume at 147.
°C and 1.00 atm?

1) 0821L 4) 041L
2) 0.082L 5) 164L
3) 0.420L

The gaseous pressure in a 500 mL flask is 250 mmHg at
284 K. What is the number of moles of gas present in the
flask?

1) 0.00143 mole 4)
2) 0.00705 mole 5)
3) 7.05 moles

143 moles

181 moles




